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9. Which one of the following statements
about the solstices, an event that occurs
when the Sun appears to reach most
northerly or southerly, is correct ?

CAPF AL 202\
(a) The winter solstice takes place on
June 21 in both the northern and
southern hemispheres

(b) The winter solstice takes place on
December 21 in both the northern
and southern hemispheres

(c) The summer solstice occurs in
northern hemisphere on June 21
and on December 21 in southern
hemisphere

(d) The summer solstice occurs
in northem hemisphere on
December 21 and on June 21 in
southern hemisphere

34. Where does podsolization take place ?

(a) Regions in high middle latitudes

(b) Coastal regions in lower latitudes

(c) Regions with hot and humid
climate

(d) Regions having arid climate

cAPF AC 2024

31. Consider the following statements
regarding the rotation of the Earth:

1. Since the Earth rotates by 15°
each hour, time zones normally
differ by one hour

2. At the International Date Line, the
calendar day changes — advancing

a day for eastward travel, dropping
back a day for westward travel

3. Daylight saving time advances the
clock by one hour

4. The Moon rotates and revolves
about the Earth in the same
direction that the Earth revolves
around the Sun

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 3 and 4 only
(c) 1,3 and 4

(d) 2,3and 4



32. Which of the following statements
regarding faunal resources of India
is/are correct ?

1. High degree of endemism has
been noticed in the biodiversity
hotspots of India

2. Of the total biosphere reserves in
India, the Sundarbans has the
largest number of species and
Nokrek has the smallest number
of species

Select the answer using the codes
given below :

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

35. Which one of the following statements
with reference to the Nebular Hypo-
thesis for the origin of Solar System is

comect? £ APF AC 2024

(a) The initiation of the nebular
hypothesis can be considered as a
diffuse, roughly spherical, slowly
rotating expanding nebula

(b) As a result of rotation and
expansion, a disk is formed with
matter concentrated in the centre

(c) Expansion continues with the
formation of the proto-Sun and the
rings of material are left behind

(d) The material in the rings get
condensed and form the planets
that revolve in orbits around the
Sun

33.

36. If

Consider the following characteristics
of a type of wind :

1. They occur at upper levels in the
atmosphere

2. They are subjected to two forces, a

pressure gradient force and the
Coriolis force

3. When the forces balance, air
moves at right angles to the

pressure gradient, parallel to the -
isobars

Identify the type of wind on the basis
of the given characteristics :

(a) Jet Stream

(b) Geostrophic Wind

(c) Westerlies

it is 3lst December, 2023 in

New Zealand, at the same time what
will be the date in the Hawaiian Islands

and Alaska ? cpPF AC 202

(@)
(b)
(©)

d

Both have 01 January, 2024
Both have 30 December, 2023

31 December, 2023 in Alaska and
01 January, 2024 Hawaiian Islands

31 December, 2023 in Hawaiian
Islands and 01 January, 2024 in
Alaska



37.

(a)

(®)

(c)

C)

38.

Which one of the following statement
with reference to hailstones is NOT
correct 7
Their formation usually occurs
during the monsoon season

They are associated with dense
cumulonimbus clouds £ APF AL

oL
Rain that forms in the?\'vann:}',

upper layer solidifies into tiny ice
pellets or hailstones in the lower,
subfreezing layer

Hailstones have multiple, con-
centric layers of ice

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List IT
(Ocean Current) (Location)
A. Kuroshio 1. Antarctic
Current Ocean
B. Agulhas 2. Pacific
Current Ocean
C. East Wind 3. Atlantic
Drift Ocean
D. Antilles 4, Indian
Current Ocean
Code: CAPF 2024
AR G

@3 4 1 2
R e B R
o e i, Y N

@2 & 1503

40. Which one among the following

statements about

the Singareni

Collieries Company Limited is
correct ?

(@)

(®)

(©)

d

Located at Kothagudem in
Telengana, this is the first and the
oldest coal mining company in
India in the private sector

It has now diversified into thermal
and solar power generation,
explosive  manufacturing for
blasting in opencast mines and
consultancy works

It has been conferred with
‘Navratna’ status since 2011

It is the single largest coal
producing company in the world

41. Which of the following  processes
is/are part of the Rock Cycle ?

1. Lithification

2. Metamorphism

3. Solidification

Select the answer using the code given
below :

(a) 1 only

(b) 1 and 2 only
(c) 2 and 3 only
(d 1,2 and 3



42. Consider the following statements
regarding the temperature of the
Earth’s surface :

1. The temperature of a surface is
determined by net radiation

2. Net radiation produces a radiant
energy flow that can heat or cool a
surface

3. Net radiation balance is usually
positive during the daytime and
negative during night time

4. Soil surface loses energy as
temperature increases during the

daytime
Which of the statements given above
are correct ?

(a) 1 and 2 only
(b) 3 and 4 only
(¢) 1,2 and 3 only
(d 1,2,3and 4
44. Which one among the following

countries is NOT a part of the Arabian
Peninsula ?

(a) Kuwait
(b) Oman c PPF GC

(c) Libya 4 02"

(d) Yemen

43. Consider the following statements :

1.

Black soil is considered suitable
for growing rain-fed crops

2. Black soil can retain moisture for

a prolonged period, aiding crops

“to survive even in dry seasons

With regard to the statements given
above which of the following is/are

correct ?

(@

(b)

©

d)

C APF Pc KoY

Both the statements are correct
and statement 2 is the correct
explanation of statement 1

Both the statements are correct
and statement 2 is NOT the

correct explanation of statement 1

Statement 1 is correct but state-
ment 2 is false

Statement 1 is false but state-
ment 2 is correct



45. With reference to ‘South Coast of
Australia’ which of the following
statements is/are correct ?

1. It is situated along the Indian
Ocean

2. It experiences rain during its
winter months of December and

January

Select the answer using the code given
below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2
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89. Which one among the following statements

CAPF AL 2023

Which one is the most abundant of all the
elements on Earth ?

(a) Silicon £

(b) Aluminium Oa? 2023

(¢) Carbon

(d) Oxygen

Which one of the following is a permeable rock
that allows water to pass through it ?

(a) Granite
(b)
()
(d)

Limestone
Quartzite
Sill

cAF 2023

Which one of the following is the deepest,
inland and protected port on the east coast of
India ?

(a)
(b)
(c)
(d)

Chennai
Paradip
Tuticorin
Visakhapatnam

The greatest diversity of animal and plant
species is found in :

(a) Temperate forests QF ﬁC—
(b) Deserts and Savannas Cc B 2\‘
(¢) Arctic and Alpine systems a b

(d) Tropical moist forests

about ‘Drumlin’ is correct ?

(a)
glacial drift on the till plains.

(b)
(c)
(d)

It is a city located in central Europe.
It is a river.

It is a narrow road in Tibet.

It is a streamlined hill moulded in

400

41.

73.

Which one of the following is the busiest sea
route and links two industrially developed
regions of the world ?

(a)
(b)
()
(d

Using the code given below identify the type of
farming on the basis of given characteristics :

Mediterranean — Indian Ocean sea route
The Northern Atlantic sea route

Cape of Good Hope sea route

The North Pacific sea route

1. The produce is consumed entirely or
mainly by the family who work the land
or tend the livestock.

2 If a small surplus is produced, it may be
sold or bartered.

3. It is generally small scale and labour
intensive with little or no technological
input.

Code:

(a) Extensive farming

(b) Intensive farming

(¢) Subsistence farming

(d) Commercial farming

Which one of the following correctly explains
the change in seasons on Earth ? £ A PF Ac

(a)
(b)
(c)
(d)

Tilt of the Earth’s axis 20 ?’3
Rotation of the Earth on its own axis
Revolution of the Moon around the Sun

Interaction of the Earth with other
planets



9. Copsider the SRaWig Matemeri ¢ 76. Match List-I with List-II and select the correct
1. The Great Northern Plains are formed : 2 £
by basins of t} distinet river systems answer using the code given below the Lists :
— the Indus, the Ganga and the List-1 List-I11
Brahmaputra. (Temperate (Region)
2. They are one of the most densely Gra.ss'land) 3
populabed areas on Earth. A. Prairies 1. Eurasia
3. Between the Yamuna at Delhi and the B. Steppes 9. South Africa
Bay of Bengal, nearly 1600 km away,
there is a drop of only 200 metres in C. Pampas 3. North America
levation.
o -4 ey _ D. Veldt 4. South America
Which of the statements given above are
correct ?
(a 1,2and3 Code : C‘WF AC ZO$3
() 2and 3 only A B € B
(¢) 1land2only (@) 2 1 4 3
(d) 1and3only (b) 2 4 1 3
() 3 1 4 2
75. Consider the following statements : d 3 4 1 2
x Mm.ly of.the world’s largest mountain 77. Consider the following statements about
chains exist beneath the sea. e
2.  Some mountain chains are revealed as %
island arcs. 1 B Millets are often referred to as
3.  The mid-oceanic ridges form the longest climate-resilient crops because they can
O i ‘ grow on arid lands with minimal inputs
4.  The mid-Atlantic ridge rises thirty-three TR 1P
metres above the floor of the Atlantic. SN o .
Which of the statements given above are 2.  Millets are a good source of minerals,
correct ? dietary fibre, antioxidants and protein.
(a) 1and2only 3 Millets. includi h f
@) 3and 4 ouly . ets, including sorghum, account for
(¢ 1,2 and4 only less than 3% of the global grains trade.
(d 1,2 and3only Which of the statements given above are
83. Which of the following statements is/are correct ?
correct ?
(a) 1and2only
1. Population ageing is the process by
which the share of the older population (b) 1and3only
becomes proportionately lesser.
2. In most of the developed countries, the (¢) 2and3only
?opulation in higher age groups has (d 1,2and3
increased.
Select the correct answer using the code given
below :
(a) 1lonly
(b) 2only
(c) Both1land2
(d) Neither 1 nor 2



92. Trans-Siberian Railway from St. Petersburg to
Vladivostok does not run across :

(a)
(b)
(c)
(d)

Altai range
Caucasus mountains
Ural mountains

Ob and Yenisei rivers

93. Consider the following statements about
Barchans :
1. These landforms are found in Thar
desert in India.
2. The windward side has concave slope
with maximum height at the centre.
3. Two ends of the barchan are called

horns.

Which of the statements given above is/are

correct ?

eF AC
(a) 1and2only A 2 1)
(b) 2and 3 only
(¢) 1and 3only
(d 3only

110. Consider the following statements about

Laterite soil found in India :

1. Laterite soil is found in high altitudes of
Himalaya.

2. It is a very fertile soil.

3. It is a red colour soil due to presence of
iron oxide.

4. It is poor in Nitrogen, Potash and organic

matter.

Which of the statements given above is/are

correct ?

(a) 3only

(b) 2and 4 only
(¢) 3and4only
(d 1,3 and4only

111.

112.

Consider the following statements :

1. Geothermal energy can be wused to
produce electricity or its hot water can be
used directly for industry, agriculture,
bathing and cleaning.

2. Nuclear energy is often cheaper than
some other sources of electricity.

3. Thermal power stations burn fossil fuels
to create steam to drive the turbines.
Which of the statements given above is/are

correct ?

(a) 1lonly
(b) 1,2and3
(¢) 1land3only
(d) 2and3only
Which of the following statements about Ragi
crop grown in India is correct ?
(a) It is a millet crop grown in drier parts of
south India.
(b) It is a Rabi crop sown between
November and March.

(¢) It is a rainfed crop grown on red, light

black and sandy loam soil.

It is grown between 20 degree Celsius
and 30 degree Celsius of temperature
and 50 — 100 cm rainfall.

Consider the following statements about rock
structure :

1. Conglomerates are clastic sedimentary
rocks.

2.  Slate is a non-clastic sedimentary rock.
3.  Granite is a plutonic igneous rock.

(d)

4.  Basalt is an extrusive igneous rock.
Which of the statements given above are

correct ?

(a) 1,2and3only 38
(b) 3 and4only Q (’ W
(¢) 1land2only (/F\

(d 1,3 and4only

114. Which of the following soil formation process

takes place in Phumdis (floating fields) in

Loktak Lake of Manipur ?

(a) Laterization d}&? pe
(b) Podzolization q 9
(¢) Gleization

(d) Calcification




115. Which one of the following statements is
correct about Spring tides ? ~ QO 20?/3

(a) High tide is higher than average high
tide and Low tide is higher than average
low tide.

(b) High tide is lower than average high
tide and Low tide is higher than average
low tide.

(¢) High tide is higher than average high
tide and Low tide is lower than average
low tide.

(d) High tide is lower than average high
tide and Low tide is lower than average
low tide.
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7. The boundary layer of the forest at
which the energy exchange occurs
and some insolation is returned directly
to space is

(a) forest floor

CcAPF RC
q oLt

(b) forest soil
(c) forest canopy

(d) forest litter

60. Which one of the following is not
correct?

(a) The Gulf Stream is a warm ocean

current. AP FAC 20702

(b) The North Atlantic Drift is a warm
ocean current.

(c) The Labrador Current is a cold
ocean current.

(d) The California Current is a warm
ocean current.

61. Which of the following statements about
maps are correct?

1. Maps that maintain the true
shapes of areas are known as
conformal maps.

2. Maps are used to show spatial
relationships.

3. Maps cannot show route from one
place to another.

Select the correct answer using the
code given below.

(@) 2 and 3 only A@ v 2011
(b) 1 and 3 only

(c) 1 and 2 only

(d 1,2 and 3

62. Which one of the following statements
about ‘great circle’ is not correct?

(a)

(b)

(c)

(d)

Every great circle divides the Earth

into equal halves. ¢ A\PF .22

Every great circle is a
circumference of the Earth.

Great circles mark the longest
travel routes between locations on
the Earth’s surface.

Great circle is the largest circle
that can be drawn around the
Earth through two particular
points.

63. Which one of the following statements
is correct with reference to normal
lapse rate?

(a)

(b)

(c)

(d)

Temperature is highest at ground
level and decreases with increasing

p———. CART 1o

Temperature is lowest at ground
level and increases with increasing
altitude.

Temperature remains stable with
increasing altitude.

Temperature first increases with
increasing altitude and gradually
starts decreasing.

64. Which one of the following is a tributary
of the Brahmaputra River?

(a)
(b)
(c)
(d)

Ghaggar
Mabhi
Kosi

Manas



84. Ganga water is being shared at Farakka 104. Arrange the following passes from West

with which one of the following to East direction :
o 1. Bara Lacha La
. N MF 2. Shipki La

(b) Bhutan 0‘)\0322 3. Jelep La

O Sunmagess 4. Bomdi La

(d) Myanmar

Select the correct answer using the
code given below.
85. Which one of the following is a part of

Deccan Plateau? ng g
@ Aravani Hins  CADF o ol

(b) 1-3-2-4
(b) Karbi Anglong Hills 0109\3-
o o St (c) 2-3-4-1
(c) Shivalik Hills
(d) Vindhyan Hills (d) 2-4-3-1
86. In which one of the following States, 105. Which of the following statements is/are
more than 50% area is under Jhum correct?
Aol 1. The jet streams are high altitude
(a) Manipur easterly winds.
(b) Assam 2. El Nifo is a warm ocean current.
() Sikki 3. El Nino appears along the Peru
coast.
(d) Mizoram

Select the correct answer using the code

103. Which of the following sets of Indian given below.

States are landlocked and do not have
an international boundary?

fa) Andhra Pradesh, Chhattisgarh, (@) 1 only égo%::zz
Haryana, Jharkhand and Madhya
Pradesh CAPFAC 2022 (b) 2 and 3 only

(b) Chhattisgarh, Haryana, Jharkhand, fc) 1 and 3 only
Madhya Pradesh and Telangana

(c) Chhattisgarh, Haryana, Himachal
Pradesh, Madhya Pradesh and
Telangana

(d) Andhra Pradesh, Chhattisgarh,
Haryana, Himachal Pradesh and
Madhya Pradesh

(d 1,2 and 3



106. Match List-lI with List-II and select the

correct answer using the code given
below the Lists :

List-1 List-II
(Type of plain) (Characteristic
Sfeature)
A. Bhabar 1. Marsh
B. Bhangar 2. Silt
C. Khadar 3. Gravels
D. Delta 4. Kankar
o AR 6D D?
3 2 4 1 U&l
(b) A B C D
3 4 2 1
fc) A B C D
1 4 2 3
d A B C D
1 2 4 3
116. When was the first All India Census
attempted?
(a) 1871
(b) 1872
(c) . 1881
(d) 1861

119. Solifluction is a geomorphic process
involving a special type of soil flow that

is noticed in

(a) desert regions

(b) karst regions

(c) permafrost regions

(d

savanna regions

117. Consider the following statements about

the seaports in India :

1. There are 4 major and 25 minor
seaports in India.

2. The major ports are under the

administrative control of the
Ministry of Ports, Shipping and
Waterways.

3. The minor ports are under the
jurisdiction of respective State
Maritime Board /State Government.

Which of the statements given above
is/are correct?

(@ 1,2 and 3
(b) 3 only

(c) 1 and 2 only
(d) 2 and 3 only

118. Match List-I with List-Il and select the

correct answer using the code given
below the Lists :

List-1 List-II
(Regional block) (Headquarters)
A. ASEAN 1. Brussels
B. CIS 2. Vienna
C. Eu 3. Minsk
D. OPEC 4. Jakarta
Code : -
fa) A B C D
4 3 1 2
(b) A B - D
4 1 3 2
fc) A B C D
2 1 3 4
d A B C D
2 3 1 R



120. Which one of the following geologic time
periods is associated with the first

appearance of the marsupials?

(@)
(b)
(c)
(d)

Lower Cretaceous C A? P
Upper Cretaceous l’ 21

Early Jurassic

Middle Jurassic

121. Which of the following statements about

the

Border Roads Organization (BRO)

is/are correct?

18

BRO is concerned with the
construction and maintenance of
roads in strategically sensitive
areas.

BRO undertakes snow clearance in
high altitude areas.

Select the correct answer using the code
given below.

(a)
(b)
(c)
(@

1 only
2 only
Both 1 and 2

Neither 1 nor 2

125. Which of the following sets of nations are
members of the BIMSTEC Initiative?

(@)

(b)

(c)

(d)

Bangladesh, Bhutan, Nepal, India

and Sri Lanka QQF;LP:ZL

Bangladesh, Bhutan, Nepal, India,
Sri Lanka, Thailand and Myanmar

Bangladesh, Bhutan, Nepal, India,
Sri Lanka and Maldives

Bangladesh, Bhutan, Nepal, India,
Myanmar, Sri Lanka and Indonesia

2.0



CAPF 2021

35. Which f the following is a pull facto : 2 ,
aoe . i e g 61. Which one of the following is not a

for migration? = . 4
) . Natural disaste? APF-202\ type of chemical weathering?
(b) High wage (a) Carbonation solution
(c) Housing shortage
(d) Low income (b) Salt crystal growth
36. What is the depression at the top of (c) Hydrolysis Cﬁ 9 ?
a volcano following a volcanic eruption d) Oxidati 2 vl‘
called? PF (d) Oxidation
o) Chiioper - G \
(b) Vent ol 34. Broadly both birth and death rates are
fo)+ Cinder low in which one of the following stages

(d) Crater of demographic transition model?

(a) High stationary stage
37. In order to find out the absolute location (b) Earl di
of a place on the map, which of the YT, o

following will be required? ¢ AQF (c) Late expanding stage
(a) Latitude of the place alone AL
(b) Longitude of the place alone 102\
(c) Both latitude and longitude of the

(d) Low stationary stage

place
(d) Neither latitude nor longitude of 62. Match List-1 with List-II and select the
the place correct answer using the code given
below the Lists :
38. The speed of the wind is measured by List-I List-II
(a) wind vane (Fold Mountain) (Country/ Continent)
(b) wind rose A. Ural 1. South America
(c) barometer B. Appalachians 2. South Africa
(d) anemometer C. Drakensberg 3. Russia
39. In the course of a river, in time, which D. Andes 4. North America

one of the following features is formed
when the old meander is closed off by Code :
deposition?
(@ Pothole CAPF22) Gl A 2B &
(b) Levee 3 2 4 1
(c) Oxbow lake (b)) A B C D
(d) Flood plain 3 4 2 1

) A B C D

1 4 2 3
d A B C D
1 2 4 3



63. Which of the following main types of iron 85. In which one of the following soils, the
ke salt content is so high that common salt

1. Haematite is obtained by evaporating the saline
2. Magnetite water in some areas?
3. Limonite 4
Peaty soi
4. Siderite (a) Peaty
Select the correct answer using the code (b) Alluvial soil
given below.
(@) 1 and 2 only g (c) Laterite soil

(b) 2 and 4 only (@ Arid soil
: £
¢ 1,2 and 4

(d) 1 and3 99. In India, Cardamom Hills are regarded as

a continuation of the
83. Caves, arches, stacks and stumps are

the landscape features of which one of (a) Eastern Ghats
the following?
(b) Mizo Hills M r/
(a) River P (c) Naga Hills ’\\
OA{’ (d) Western Ghats 2o
(b) Wave
207 |
(c) Limestone 100. Match List-I with List-II and select the
correct answer using the code given
(d) Wind below the Lists :
List-I List-I
84. Which of the following statements about (Tributary) (River)
tropical rain forests are correct?
A. Sutlej 1. Yamuna
1. The soils of tropical rain forests are
quite infertile. B. Kosi 2. Brahmaputra
C. Teesta 3. Ganga
2. The vegetation is evergreen,
enabling photosynthesis to take D. Chambal 4. Indus

5
=

place year around. pL A
code:  (MRF
3. They have been described as '

‘deserts covered by trees’.

(a) A B C D
4, They are most productive land- 1 3 2 4
based ecosystem. :

(b) A B C D
1 2 3 4

Select the correct answer using the code
given below. (c) A B C D
4 3 2 1
(a) 2 and 4 only @ A B c D
4 2 3 1

(b) 1, 3 and 4 only

() 1, 2 and 3 only

(d 1,2, 3 and 4



101.

102.

103.

104.

Which one of the following is the only
riverine major port in India?
(a) Mormugao
(b) Deendayal Cavf 2 02\
(c) Kolkata

(d) Paradip

Which one of the following is not a desert
river?
(a) Barak ‘D?\
(b) Rupen MQ P 2 \
(c) Banas
(d) Machchhu

The heaviest rocks, which are rolled
along the river bed in river transport,
come under which type of load?

(a) Solution load
(b) Suspension load
(c) Saltation load
(d) Traction load

4

Which of the following factors are needed
for the growth of corals?

1. Freshwater
2. Clear shallow salt water

3. Plenty of sunlight for photo-
synthesis

4. Warm water between 23 °C and
25°C

Select the correct answer using the code
given below.

(@ 1,3 and 4 only OA?P
(b) 2, 3 and 4 only 2}73\\
(c) 1 and 2 only
(d 1,2, 3 and 4

105. Convection currents, which move the

tectonic plates, are found in which layer

of the earth?
(a) Crust &A_? P Qv ?‘)
(c) Outer core (,P‘Q foZD l‘é

(b) Mantle
(d) Inner core

CAPF 2020

30. Growing two or more crops in the

‘same field but in different rows is
called

(a) Crop rotation

(b) Inter cropping
(c) Alternate cropping
(d) Kbharif cropping

41. Natural Population Change is calcu-

lated by -
¢ M Qo0
(a) subtracting the death rate from the
birth rate

(b) multiplying the death rate with the
birth rate

(c) adding the death rate with the
birth rate

(d) subtracting the birth rate from the
~ death rate

42. A long narrow stretch of sand and/or

shingle with one end attached to the
mainland is called

(a) Sand spit. 2 '
(b) Sand bar c M E)/OQ/O
(c) Sand dune

(d). Tombolo



43. Which one of the following does NOT 68. Which one of the following karst

illustrate the importance of the Coral landforms is the largest in size ?
Reef? COPF Qo020 b
. a olje
(@) pT::;’leprowde employment to the (@) J mQF oczo QO
(b) They supply building materials ®). Uvala
(c) . They protect shoreline from storms (c) Swallow Hole
(d) They protect communities from
earthquakes ' (d) Sink Hole

44, Which one of the following statements : .
about the Acacia tree is/are correct ? 69. Singapore is known as Port of Call

‘ because
_l. It has a long shallow root system Wp& ®9-°

which enables it to find moisture (a) it deals in the processing and

2. It has thorny leaves to prevent shipping of oil

water loss
(b) it is a deep water port built away

3. It has wide crown so the foliage from the actual port

can absorb the maximum Sunlight

Select the correct answer using the code (c) it is on main sea route where ships
given below : use to anchor for refueling, water-
() 1only ing and taking food items
() 2and3 only (d) it serves the parent ports by
(c) 1and2only receiving the ships which are
. unable to approach due to their
(d 1,2and3 large size
45. Dardic group of language belongs to 96. Which one of the following statements
which language family ? is NOT correct ?
(a) Indo European : .
. : (/P‘Q( (a) Mahogany is a timber species of
(b) Austric 9 0%0 Tropical Rainforest
(c) Sino-Tibetan . . .
(b) Chaparral vegetation is found in
(d) Dravidian : Taiga climate

(¢) Lichens are predominantly found
in Tundra region

(d) Sal is a representative species of
Moist Deciduous Forest



97. Consider the following statements :

1. River Kaveri has well developed
valley '

2. Valley of River Alakananda is still
growing

3. River Krishna is largest east flow-
ing peninsular river

Which of the statements given above
is/are correct ?

(a) 1only ‘
(b) 1and2 cﬁ ?f
(c) 2and3 a? 0|V
(d) 2only

98. According to Koppen’s climatic classi-

100.

fications of India, Great Northern
Plains are represented by

(a) Cwg Climate
(b) Aw Climate
(c) Amw Climate

(d) As Climate

Which one among the following
countries does NOT have common
boundary with South Africa ?

(a) Zambia
(b) Zimbabwe
(c) Botswana

(d) Namibia

840

Match List I with List IT and select the
correct answer using the code given
below the Lists :

Code :

ListI ListII
(Name of Shifting (Country)
Cultivation)
A. Milpa 1. Zaire
B‘,"; Ladang 2. Brazil
C. Rocca 3. Malaysia
. D. Masole 4. Mexico
A B C D
@ 4 3 2 1
b)) 4 2 3 1
@ 1 2 3 4
@ 1 3 2 4

99.

Which one among the following
stations receives maximum rainfall ?

(a) Hyderabad
(b) Bengaluru
(c) Delhi

(d) Raipur



2 o 1q aue} ’;OM 6. Which' one of the following stétes of

India has the largest area under depse

1. If the equatorial plane of earth is NOT evergreen forest cover 7
inclined to its orbit, then \a
: cAPF 2°
&) duration of the year would be’ (a) Himachal Pradesh
longer
(b) summer would be warmer (b) Arunachal Pradesh HVF
(c) there would be no change of : . C q
seasons _ (c) Kamnataka Q 0‘
(d) winter would be longer StupY FUuNDA ¢ .
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ (d) Uttarakhand
Easy-Conceptual
: S Moderate
e Whmh one of the follow}1ul.1g lls tBe 8. Which one of the following latitudes
biggest Island_ of Japan archipe ago ! passes through maximum Indian
' states?

(a) Honshu

(b) Hokkaido .CQW/ g
(c) Shikoku Qo‘q

@ 20°N latitude c @@P |

(b) 22° N latitude : .020 ,&,

(d) Kyushu (c) 24° N latitude

. d o -
Factual- Hard (d) 26° N latitude

9. Which one of the following is the Easy- Factual
correct order of Himalayan ranges ) :
from North to South ? 10. Sonoran 1s a
(a) Karakoram, Ladakh, Zaskar, Pir (a) desert area of North America
Panj_al, Siwalik Oﬁp‘:& O(Cf .
(b) Ladakh, Zaskar, Pir Panjal, Kara- .(b) seasonal wind of France

koram, Siwalik . .
: : ey (c) cash crop of Mediterranean region
(c) Pir Panjal, Zaskar, Karakoram, - :

Ladakh, Siwalik (d) tribe in South A ﬁ'ca.'Uﬂ 4%

(@) Siwalik, Zaskar, Pir Panjal, a0 1

Ladakh, Karakoram Hard-Skip
Moderate 36. Which one of the following represents
37. Match List I with List II and select the Code : . the inner planets ?
correct answer usi . ’ .
below the Lists : — * 0 8iven ' A B C D (a) Planets between the sun and the
List I List 11 earth
dj (@) 1 4 3 2 .
A L((l;a s (Ageny . (b) Planets between the sun and the
. 1. Wind deposited ® 1 3 4 2 belt of asteroids - pF
B.Tombolo 2. Glacier deposited (h

C.Point bars 3.River deposited D 25e® Py, (c) . Planets near the earth

D.Moraines. 4. Sea deposited @

¥ QoW
CAPF0\9

tne : (d)- Planets around the sun



38. gmh List I with List IT and select the correct answer using the code given below. the
ists @

List 1 List 11

(River) (Location in map)
A. Penner
Be aml ‘ 1’\)\/\?
C. Cauvei'y 5 ﬂ

=t &
Q}g(ﬁ\ @

Code : B
4
3
3
4

@
®)
©
@

84. North-west part of the Indian peninsula
was converted into a great centre of
vulcanicity in '

-N = N P
WA BAWLA
D= =g

(a) the end of Cretaceous period
(b) the mid of Cretaceous period
(c) the start of Cretaceous period

(d) the whole of Cretaceous period
83. Gwadar port is located in

(a) Pakistan

() Iran (APF

() India Stupy FunDA

(d) Sri Lanka

92. The gently sloping accumulation of
coarse alluvium deposits by a braided
stream is known as

(ai sand bar
(b) alluvial fan
(c) bajada

(d) diaras

56.

Bay
(@)

(®)

(©)

Which one of the following is the
correct sequence of the positions in the

of Bengal from North to South ?

Gulf of Mannar — Palk Strait —
Palk Bay C

Palk Strait — Gulf of Mannar —
Palk Bay

Palk Strait — Palk Bay — Gulf of

‘Mannar

d

Palk Bay — Palk Strait — Gulf of
Mannar

82. Which of t'he following conditions
is/are essential for wheat cultivation ?

1. Optimum  temperature during

growing period is around 30°C

2. A frost-free period of about

100 days

3. Light clay or heavy loam soil

Select the correct answer using the
code given below :

(@ 1,2 and 3

(b) 1 and 2 only

(¢) 2 and 3 only

(d) 1 only

90. Which one of the following does NOT
fall in the areas of tropical deciduous

forest biomes ? CA0F zo‘g .

(2)
(b)

(©)
@

The Neotropics mainly West
Indies

‘Indo-Malaysian zone mainly in
south and south-east Asia except
equatorial evergreen rainforest
areas ,
Eastern Africa and northemn.
Australia

North America mainly South-west

. America



91. Doldrum are - 110. Match List | with

1. equatorial calms . correct answer llSIi.;:St It}]and select the
2. calm and light winds below the Lists - ¢ _ ¢ code given
3. roaring forties . : )
4. variable both in position and in List 1 List 11
extent (Bg'k'lligr)of (Location
m s
Select the correct answer using the : In map)
code given below : A.Nepal ,
(a) 1,2 and 4 ?f B. Bhutan

(b) 2 and 3 only C. Chi
(c) 1and3 10‘4 "

(d) 2,3and 4

93. Which one of the following is NOT a
palaeoclimatic geological indicator ?

(a) Lacustrine deposits (a) 3 2 e
(b) Ice sheets and ice cores ®) _4 1 2 3
(c) Evaporite deposits mPF © 4«2 1.3
(d) Sedimentary deposits X olf @:3.1 2.4
7018 Qu ¢ £hiong
12. The Tropic of Cancer passes through 15. Id mid-latitude regions, the diurnal
which one of the following countries? wariation: insreatierds dub:io
(a) North Sudan {a) raising air/convection
{b) Chad (b) sinking air/conduction
() Mali {c) advection M?F
(d)} Yemen g z
{d) radiation l?

13. Gersoppa Falls is formed by which one of
the following rivers?

(a) Lohit 16. Springs are common in which of the
{b) Tungabhadra following areas?
{c) Sharavati 1. Well jointed rocks
{d) Krishna 2. Arid areas with underlying rocks
3. Karst topography
31. Arabian Sea records higher salinity than 4. Tilted strata
the Bay of Bengal because
(a) Arabian Sea exhibits high rate of Select the correct answer using the code
evaporation and low influx of fresh- given below.

water

(b) Arabian Sea has shallow water (a) 1 and 3 only
(c) Arabian Sea has more enclosed () 1, 3 and 4
land
fc) 2 and 4
(d) Arabian Sea receives more rainfall

{d) 3 and 4 only



27. Match List-I with List-1I and select the

v o w >

correct answer using the code given
below the Lists :

List-1 List-II
(Limestone region) (Country)
Pennines 1. France
Yucatan Peninsula 2. Jamaica
Cockpit Country 3. Britain
Causses 4. Mexico

Code : Lﬁ-? F

@A’ B © D W lg
<ol - O | F C
() A B C D
1 @ 4 B
) A B C D
3 2 4 1
@ A B C D
i 4 3 3

37. Which one of the following sites does not

have coral reef formation?

(a) Gulf of Cambay/Khambhat
(b} Gulf of Mannar

{c) Lakshadweep

(d) Andaman and Nicobar Islands

38. Which of the following statements are

appropriate to Mangrove Sites?

1. Mangrove plants require
appropriate mix of saline water
and freshwater.

2. Mangrove plants require mudflats
to enable it to grow and develop.

3. Mangrove plants are found in the
inter-tidal zones of sheltered
coasts.

4, Mangrove vegetation has been
reported in all the coastal States
including Andaman and Nicobar
Islands.

Select the correct answer using the code
given below.

{a) 1 and 2 only
(b) 2, 3 and 4 only
{c) 1, 3 and 4 only
@ 1,2, 3 and 4

29.

30.

Which of the following cities experience
the warm temperate Mediterranean
climate?

1. Cape Town

2. Los Angeles
3. Adelaide Cﬁ PP &O |?
4. Santiago

Select the correct answer using the code
given below.

fa) 1and 2 only
(b) 3 and 4 only
{c) 1, 2 and 3 only
d 1,2, 3 and 4
Which one of the following is the correct

descending order of Indian States in
terms of their density of population (as

per 2011 Census)? C A?F,?o’l
{a) Bihar—Kerala—Uttar Pradesh
—West Bengal
(b) West Bengal—Bihar—Kerala
—Uttar Pradesh
{c) Bihar—West Bengal—Kerala
—Uttar Pradesh

(d) Kerala—West Bengal—Bihar
—Uttar Pradesh

Which one of the following major river
basins of India is the shortest in length
and smallest in terms of catchment

cAOF 2018

{a) Cauvery
{b) Mahi
fc) Penner

{d) Sabarmati

Stupy FuNDA
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50. The tides whose height is 20 percent
more than normal tide are called

{a) spring tides

(b) neap tides

{c) apogean and perigean tides
(d) daily and semi-diurnal tides

53. Which one of the following is not an
igneous rock?

fa) Granite

(b) Gneiss
{c) Pumice
(d) Basalt

54. Which one of the following rivers is west-

flowing?

(a) Godavari v
Wi

{b) Periyar 3‘0 ‘7

fc) Tungabhadra

(d) Cauvery

40. The lowest temperature is observed/
recorded in which one of the following
layers of the atmosphere?

{a) Stratosphere
(b) Mesosphere
fcj Thermosphere
(d) Troposphere
41. Which one of the following ocean
currents is not a warm current?
(a) North Pacific
{b) Falkland
(c) North Equatorial
{d) Canary

51. Which of the following statements about
tropical cyclone are correct?

1. It originates and develops over
warm oceanic surface.

2. Presence of Coriolis force is
necessary for it.

3. It occurs in middle latitudinal
region.

4. It develops ‘eye’ with calm and
descending air condition.

Select the correct answer using the code
given below.

fa) 1 and 2 only
() 1,2 and 4
{¢) 3 and 4 only
{d 2,3 and 4

In India, approximately what percentage
of households still use firewood for
cooking as per 2011 Census?

{(a) 20%
s COPF ol
) 50%

{d) 60%

AN ) Ag
StupY FUuNDA

—— OFFICER IN MAKING —



18.

58.

67.

J0lF 0 me_,s%:‘OM

Which one of the following does NOT
pass through the Kaziranga National
Park ?

(a) The Brahmaputra river

(b) The Diphlu river

(c) National Highway No. 37

(d) Railway track of Indian Railway

To which of the following sectors of the

economy, the activity of agriculture and

services belong to ?

(a) Primary and Tertiary respectively

(b) Primary and Secondary respec-
tively

(¢) Tertiary and Secondary respec-
tively

(d) Secondary and Quaternary respec-
tively

Leakage of which one of the following
gases had caused Bhopal Gas Tragedy in

the year 1984 ?
e Y

Jold

(b) Hexamethylene diisocyanate

(a) Methyl isocyanate

(c) Isophorone diisocyanate

(d) Isothiocyanate

. Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List II
(Hydro power (River)
project)

A. Maithon project 1. Chambal river

B. Salal project 2. Bhagirathi river

C. Rana Pratap 3. Barakar river

Sagar project
Sl 4. Chenab river

D. Tehri project

Code :
A B C D
EF 2 3
(1) ¥l i T
(@) 2 1 4 2
@FEEE Al 15
72- List I List II
(Vegetuation) (Region)
A. Chaparrals 1. North America
B. Maquis 2. Southern Europe
C. Fynbos 3. South Africa
D. Malle scrubs 4. Australia
Code :
Atz Biesn GrassD
(a)i el 2 3 4
b)) 1 3 2 4
(c) 3 2 1
(d) DTSR LY



7/

- 83.

93.

“(c) 1 and 3 only

Which one of the following is NOT
correct about organic farming ?

(a) It does not use genetically modified
seeds

(b) Synthetic pesticides or fertilizers are
not used

(c) It uses minimal crop rotation

(d) It uses ecologically protective prac-
tices

As per Census 2011, which one of the
following is the correct descending order
of States in India in respect of sex ratio
(female per thousand of males) ?

(a) West Bengal — Madhya Pradesh —
Uttarakhand — Jammu and Kashmir

(b) Madhya Pradesh — West Bengal —
Jammu and Kashmir — Uttarakhand

(c) Uttarakhand — West Bengal -
Madhya Pradesh — Jammu and
Kashmir

(d) West Bengal - Uttarakhand -
Madhya Pradesh — Jammu and
Kashmir :

Which of the following are the necessary
conditions for the growth of coral reefs ?

1. Photic conditions
2. Clean and sediment free water
3. Sea salinity of 6%

4. Tropical sea water with temperature
of 20°C to 21°C

Select the correct answer using the code

AlY
Q011

(a) 1, 2 and 4 only

(b) 2 and 4 only

@ 1,2, 3 and 4

81.

82.

9s.

' (a) Cyprus

Which one of the following pairs of
Island and Sea/Ocean is NOT correctly
matched ?

: Mediterranean Sea

(b) Falkland : Atlantic Ocean

(c) Chagos : North Pacific Ocean

(d) Islas Cocos : Indian Ocean

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List II
(Mineral) (Mine)
A. Zinc 1. Amjhore
B. Gold 2. Sukinda
C. Chromite 3. Zawar
D. Pyrite 4. Hutti
Code :

A CABETTICS D

(@)l 2 4 3

(b 3 2 4 1

(C) RN N 1 :

d 1 4 2 3

Presence of ozone in the atmosphere is
important because it absorbs

(a) ultraviolet-A and ultraviolet-B

radiations
(b) ultraviolet-B radiations only
(¢) infrared-B radiations only

(d) outgoing ultraviolet-B radiations and
incoming ultraviolet-A radiations



101.

102.

Which of the following statements about
the Equatorial region are correct ?

1. It is a megathermal region

2. It is a sclerophyll region

3. It is a region of high development
4. It is a region of aerial streamlets

Select the correct answer using the code
given below :

(@) 1 and 4

(b) 1 and 2 only

(¢) 2,3 and 4

(d 1, 2.and 3

Which one of the following statements
about the Himalayas is NOT correct ?
(a) They are young fold mountains

(b) They have geosynclinal rpcks

(c) Himalayan frontal faults (HFF)
separates Himalaya from Tibet

(d) Indus and Sutlej rivers form
antccedent drainage in [limalaya

x* ¥ %

wAN ) Ag
Stupy FUNDA
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94. Which one of the following diseases is
caused by Cadmium pollution ?

(a) Minamata
(b) Itai-itai
(c) Fluorosis

(d) Blue baby syndrome

103. Which one of the following is NOT a
favourable condition for occurrence of a
thunderstorm ?

(a) Conditional and convective instability

(b) Adequate supply of moisture in the
lower atmosphere

(c) Advection of cold dry air in the
lower troposphere and warm moist
air in the upper troposphere

(d) A synoptic situation of low level
convergence and upper level
divergence

119. Match List I with List II and select the
correct answer using the code given below

the Lists :

List I List II
(Bird Sanctuary) (State)
A. Sultanpur 1. West Bengal
B. Kulik 2. Haryana
C. Nawabganj 3. Uttar Pradesh
D. Auiveri 4. Karnataka

Code :

A B C D
(a) 2 1 3 B}
(D)2 3 1 4
(c) 4 3 1 2
(d) 4 1 3 2



120. Match List I with List II and select the
correct answer using the code given
below the Lists :

List I
(National Park)
A. Corbett
B. Neora Valley
C. Betla
D. Kanha

List IT
(Location in map)

A B G D
@) 08 TN ol
(D) sz g ey
NG [ e )
(@ R e D

AN ) Ag

STtupY FUNDA
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122. Which of the following statements

related to tribes in India are correct ?

1. Tharu tribes are found in Uttar
Pradesh and Uttarakhand

2. Irula, Chenchu and Sumali tribes
are found in Kerala

3. Garasia tribes are found in Goa

4. Gaddi tribes are nomadic herders of
Jammu & Kashmir and Himachal
Pradesh

Select the correct -answer using the code
given below :

(a) 1 and 3 only
(b) 2 and 4 only
(c) 1,2 and 4 only

d I, 2 3and 4

121. Consider the following statements :

1. Areas where rainfall exceeds
250 cm

2. Annual temperature 25°C - 27°C
3. Average humidity exceeds 75%
4. Trees do not shed the leaves

To which one of the following types of
vegetation does the above represent ?

(a) Tropical wet evergreen
(b) Tropical semi evergreen
(c) Tropical moist deciduous

(d) Tropical dry evergreen



123. Consider the following statements about

124.

125.

‘Ring of Fire’ :

1. It is also known as circum-Pacific
belt of volcanoes

2. It is an active seismic zone
3. Itis a zone of divergent plate margin

Select the correct answer using the code

given below :
9014 LY

(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only

(d 1,2 and 3

The Bum La Pass is located in

(a) Sikkim c/{_\?F ACRa\?
(b) Arunachal Pradesh

(c) Himachal Pradesh

(d) Uttarakhand

Which one of the following is located at
the southernmost latitude ?

(a) South Africa
(b) Australia CPPF a? 217
(c) Chile

(d) Polynesia

Q O[é &ueﬁﬁw/&

Which one of the following layers of
atmosphere has high concentration of ions ?

(a) Stratosphere

(b) Exosphere

(¢) Thermosphere

(d) Troposphere

Which one of the following cities has greater
annual range of temperature ?

(a) Kuala Lumpur

(b) New Delhi
Ac) Shanghai

(d) Ulaanbaatar

Match List I with List Il and select the

correct answer using the code given below

the Lists :
List I List IT

(Climate type in (Major area)

letter code)

A. Aw 1. Central California

B. Af 2. Indian Sub-Continent

€ Cs 3. North and South of
Amazon Forests

D. Am 4. Western Equatorial
Africa

Code : ?f

aooc oo (M
@3 1 4 ﬁo\

2
(b) 2 4 3
© 3 4 1 2
@ 2 1 3



y £

20.

Which one of the following rivers flows

between Satpura and Vindhya ranges ?

(a) Tapi

) sabarmaii AT 6

(c) Narmada

(d) Mahi

Which of the following statements relating

to Dharwar geological system are correct ?

1. They belong to Archaean geological
period

2. They are metamorphosed sedimentary
rocks

3. They are of great economic importance

for its mineral resources

4. They are found predominantly in
Karnataka, Tamil Nadu, Odisha and

Jharkhand cA et '20 \6

Select the correct answer using the code

given below :

(a) 1.2,3and4
(b) 2,3 and4 only
(c) 3 and4 only
(d) 1and2only

18.

21.

Consider the following statements relating
to Sea Salinity :

2.

3.

The ocean salinity depends on
evaporation and precipitation
Any change in the temperature or
density influences the salinity
Major source of sea salinity is
terrestrial discharge by rivers

Which of the statements given above are
correct?

(a)
(b)
(c)
(d)

1 and 2 only
2 and 3 only
1 and 3 only
1,2and 3

Which one of the following is the correct

order of formation of geological systems in

India in terms of their age ? (Starting with
the oldest)

(a)

(b)

(©)

(d)

Dharwars - Aravallis - Vindhyans -
Cuddapahs
Aravallis - Dharwars - Cudda;;ahs -
Vindhyans
Vindhyans - Dharwars - Aravallis -
Cuddapahs

Cuddapahs - Vindhyans - Dharwars -
Aravallis

StubpY FunDA
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48. Which of'the following statements concerning
circum-pacific belt are correct ?

1. Itis an active volcanic realm

2. Itis an active seismic realm

3. Itisa divergent plate boundary

4. It is prone to Tsunami

Select the correct answer using the code

given below :
a and 2 only é 'QQ P
(a) 1and2 only o?o ' b

(b) 3 and 4 only
(¢) 1,2and4 only
(d) 1,2,3and 4

49. Which of the following statements relating
to solar system is / are correct ?

1. Venus and Uranus rotate opposite to
the direction of rotation of Earth

2. Venus is the nearest planet to Earth
Select the correct answer using the code

given below : _
(OVF

Xolb

(a) 1 only

(b) 2only

(¢) Both1 and 2
(d) Neither I nor2

50. If a place is affected by Tide at 6:00 AM

Monday, normally at what time the same

place will be affected by Ebb ?

@ 6:26PMMonday - 0@ Y
(b) 6:52 AM Tuesday
(c) 12:13 PM Monday
(d) 00:26 AM Tuesday

&o\b

@Vhich of the following statements are

e

correct ?
1. Kolkata port is the only riverine major
port of India

2. The port of Cochin is located on the
Willington Island

3. Maharashtra has three major ports
Mundra port is India’s major port in
private sector

Select the correct answer using the code

given below ;

(a) 1and?2only CR?F Qo lb
(b) 3 and 4 only
<Y

(¢) 2,3and4

(d) 1,2and4

Perth located on 118° East Longitude will
be celebrating New Year event on 1* of
January 2017 at 6:00 AM. At that time, what
would be the time at Los Angeles located
on 110° West Longitude ? 6&(? =
(a) 9:12 PM of 1% January 2017 Lolb
(b) 2:48 PM of 31* December 2016
(c) 11:40 PM of 31% December 2016
(d) 5:28 AM of 1¢ January 2017

* ¥ %

wAN ) Ag

StuDY FUNDA
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68. Various landforms observed on the surface 74,

69.

QOLS Quep tionk

of the earth are due to the: -

1. differences in the type and structure of
the crustal material

2. differences in the land forming
processes

3. differential rates of the processes at

different places on the Earth’s surface

Select the correct answer using the code
given below :

(a

1 only

(b) 1and2only
(c) 2and 3 only

@

I,2and 3

Under which of the following condition(s)
the occluded fronts are created ?

1.
2.

When the front remains stationary

When cold air mass moves to warm
air mass

When warm air mass moves to cold
air mass

When an air mass is fully lifted above
the land surface

Select the correct answer using the code
given below :

(a)

1 and 2

(b) 2and3
(¢c) 3and4
(d) 4only

75.

Which one of the following factors is NOT
connected with planetary wind system ?

(a) Latitudinal variation of the atmospheric
heating

(b) Emergence of the pressure belt
(c) Earth’s revolution around the Sun

(d) Migration of the pressure belts due to
apparent path of the Sun

Match List-1 with List-II and select the
correct answer using the code given below
the Lists :

List-I - List-IT
(Volcano type) (Location)
A. Shield Volcano 1. Indonesia
B. Composite 2. India

Volcano
C. Caldera 3. Hawaii
D. Flood Basalt 4. Philippines

Provinces
Code :

A B C D
(@ 2 4 1 3
b 2 1 ks 3
) 3 1 4 2
dy 3 4 1 2

86. Which of the following statements with

regard to the continental shelf is NOT

correct ? CAPF 1. [6 :

(a) Shelves are absent close to plate
boundaries

(b) They are highly sedimented

(c) They have abrupt falls towards the
continental slopes

(d) They are rich fishing areas



80. Match List-I with List-II and select the ;. Match List-1 with List-Il and select the

correct answer using the code given below correct answer using the code given below
the Lists : ‘ the Lists :
List-1 List-II List-1 List-11
(Landform feature) (Location) (Tropical Cyclone)  (Location)
A. Alluvial fans 1. Mountainous A. Cyclones - 1. USA
Areas B. Hurricanes 2. East Asia
B' &Vs-shaped 2. Coasts C. Typhoons 3. Australia
valleys D. Willy-willies 4. India
C. Deltas 3. Lower Reaches Code :
of the river A B C D
D. Ox-bow lakes 4. Mountain (a 4 2 1 3
Foothills ®) 4 1 2 3
Code : © 3 1 2 4
A B C D @ 3 2 1 4
(@ 4 1 2 3
by 4 2 1 3 87. Arrange the following National Parks of
© 3 2 1 4 India from North to South direction :
d 3 1 2 4

1. Indravati National Park
2. Nagarhole National Park
3. Corbett National Park

4. Madhav National Park

Select the correct answer using the code

given below :
(@ 1,3,2,4
b)) 2,1,4,3

() 3,4,1,2

StupY FUNDA (d) 2,3,4,1
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92.

93.

Which one among the following is NOT a
minor p]até ?

(a) Nazca

(b) Arabia

(c) Philippines

(d) Antarctica

The trees of tropical rainforest have buttress

roots because :
(a) they help to provide aeration to soils

(b) the organisms found in the buttresses

have a symbiotic relationship
(c) the trees belong to gramineae family

(d) the buttresses have to bear the

mechanical load of hardwoods

It is reported that there is an ongoing
decrease in the pH value of ocean water
because of global warming. It happens due

to:
(a) larger uptake of CO, by ocean water
(b) lesser uptake of CO, by ocean water

(c) larger uptake of atmospheric nitrogen

by ocean water

(d) - lesser uptake of atmospheric nitrogen

by ocean water

98.

99.

Statement |

From which among the following pairs of
species, a small quantity of fine quality wool
is obtained in India ?

(a) Pashmina goats and Angora rabbits
(b) Pashmina rabbits and Angora goats
(¢) Pashmina rabbits and Angora sheep
(d) Pashmina goats and Angora sheep
The following item consists of two
statements, Statement I and Statement II.
Examine these two statements carefully and
select the correct answer using the code
given below :

Code :

(a) Both the statements are individually
true and Statement II is the correct
explanation of Statement I

(b) Both the statements are individually
true but Statement II is NOT the correct
explanation of Statement I

(c) Statement I is true but Statement II is
false

(d) Statement I is false but Statement II is
true

- All the energy received by the
earth is from the Sun through
electro-magnetic radiation

Statement Il : The earth also radiates back all the

received energy through various
ways to maintain the heat budget
of the planet

100. Which one amon g the following substances

is NOT a “green house’ gas ?
(a) Water vapour

(b) Chlorofluorocarbon

(¢) Methane

(d) Nitrogen

109. Which one among the following States is

the leading producer of petroleum (crude)
in India ?

(a) Assam

(b) Gujarat

(c) Maharashtra

(d) Andhra Pradesh



101.

104,

105.

108.

Ozone layer depletion is a major phenomenon
in:

(a) Troposphere
(b) Stratosphere (/QPF 02 ol 3/

(¢) Thermosphere
(d) Exosphere

Which one among the following plains is

associated with Limestone Topography ?
(a) Bajada plain

(b) Alluvial plain

(c) Karst plain

(d) Pene plain

Regur soil is most suitable for the cultivation
of :

(a) Groundnut
(b) Cotton

pF AC
ch: o\§

(c) Tobacco
(d) Sugarcane

Which one among the following is the
correct order of west flowing rivers in terms
of decreasing size of their river basins ?

(a) Narmada— Tapi — Sabarmati -— Mahi
(b) Tapi — Narmada— Mahi — Sabarmati
(c) Sabarmati— Narmada — Tapi — Mahi
(d) Narmada— Tapi— Mahi — Sabarmati

110. Which one among the following States is

the leading producer of salt in India ?
(a) Rajasthan

(b) Gujarat

(¢) Tamil Nadu

(d) Andhra Pradesh

114. Consider the following statements relating

to cyclone, anti cyclone and trade wind :

1. The wind direction is clockwise in the
cyclone of northern hemisphere

2. The planetary wind that blows from
north-east to north-west is known as
north-east trade wind

3. The wind direction is anti clockwisc
in the anticyclone of southern

hemisphere Cmf ﬁ? {
(/)
4. Both westerli¢s and trade »\!1 ds

originate from sub-tropical highs

Which of the statements given above is/are
correct ?

(a) 3and4only
(b) 1,3and 4
(¢) 4only

(d) 1,2and3

. ‘Evaporites’ is :

(a) arock

(b) a meteorite

(c) abrackish water pan
(d) an evaporimeter

StupYy FuNDA
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6. Statement I

Statement 11

Al

7. Statement |

Statement 11

: The Doldrums is a low
pressure area around the
Equator where- the

prevailing winds are calim

: Low pressure is caused

by the heat at the Equator

which makes the air rise
and travel both Northwards
and Southwards

: Roaring Forties are

strong Westerly winds
found in the Southern
Hemisphere, generally
between the latitudes of
40° and 50°

. The strong East to West

air currents are caused by
the combination of air
being displaced from the
Equator towards the
South Pole and the
Earth’s rotation and there
are few landmasses to
serve as wind breaks

84. The Kuroshio is a north flowing Ocean
current on the west side of the North
Pacific Ocean. Which one among the
following statements regarding this is not

correct ?

(a) It is similar to the Gulf Stream in
the North Atlantic Ocean

(b) It transports warm, tropical water
northward towards the Polar region .

(¢) The warm water of the Kuroshio
current sustains the coral reefs of

Japan

(d) It begins off the coast of Japan and
flows northward

7014 Quegkions

87. Match List I with List I and select the
correct answer using the code given below

the Lists :
List I List II
(Wildlife (State)
Sanctuary)

A. Mahananda 1. Madhya Pradesh
B. Lakhari Valley 2. Uttar Pradesh

' C. Pachmarhi 3. West Bengal
' D. Chandra Prabha 4. Odisha

Code :

A B C D

@ 3 4 1 2

b 3 1 4 2

© 2 1 4 3

@2 4 1 3

90. Which one among the following is the
most plausible explanation for the location
of the Thar Desert in Western India ?
(a) Prevalence of sand dunes
(b) The evaporation of moisture by heat
(c) The absence of mountains to the
North of Rajasthan’ to cause
orographic rainfall in it

(d) The moisture carried by the South-
West Monsoon is driven away by the .
dry upper air current

Stupy FunDA
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93.

99.

101.

(c) The trench is about 2550 km long

The inher. most region of a hurricane is 104. The Saragasso Sea is a vast patch of

known' as hurricane-eye where :

(a) temperature is highest and pressure
is the lowest

(b) temperature is lowest and pressure
is the lowest '

(c) sky is clear and temperature is the
lowest

(d) sky is under dense cloud cover and
pressure is the lowgst

Which one among the following countries
of Asia is land-locked .?

(a) Vietnam
(b) Cambodia
(¢) Laos

(d) Thailand
The Mariana trénch is the deepest part of

CAPE QoY

the Oceans. Which one among the

following statements regarding this is not
correct ?

‘(@) It is located in the Western Pacific

Ocean, to the West of Mariana island

(b) The trench was first sounded during
the Challenger expedition in 1875

and an average width of only 69 km

(d) At the bottom of the trench the water

~ column above exerts a pressure over

1000 times the standard atmospheric
pressure at sea level

107.

Atlantic Ocean characterized by an
abundance of floating brown seaweed
called ‘Sargassum’. This is formed due
to the deposit of marine plants and refuse
carried by the :

1. North Atlantic current
2. Canary current
3. North Atlantic Equatorial current

Select the correct answer using the code
given below :

(a) 1 only

(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2and3

Which of the following statements with

regard to the Indian Peninsular Plateau

is/are correct ?

1. The Southern plateau block is formed
mainly of granite and gneiss

2. The Deccan lava plateau is an elevated
tableland consisting of horizontally
arranged lava sheets

3. The Malwa plateau dominates the
Vindhyan scraps, forming the Eastern
flank of the plateau

4. The'trough of the Narmada and Tapti
is-interposed between the Vindhyan

~and the Satpura ranges

* Select the correct answer using the code

given below :

(@ 1,2 and 3
(®) 1,2and 4
(c¢) 1 and 2 only
(d) 4 only

xéw.x
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110. Three important rivers of the Indian
subcontinent have their source near
the Manasarovar Lake in the Great
‘Himalayas. Which among the following

i ?
are the rivers C APFQ ol"l
(a) Indus, Jhelum and Sutlej -

(b) Sutlej, Yamuna and Brahmaputra
- (c) Brahmaputra, Indus and Sutlej
(d) Sutlej, Jhelum and Yamuna

114. Which of the following islands are made
' of small coral atolls and reefs in the
Arabian Sea ?

(a) Maldives
(b) Andaman
(¢) Sri Lanka
(d) Lakshadweep

120. Which meridian forms the boundary line
between the Indian Ocean e Pacxtiq

Ocean ? %
(a) The meridian of Cape of Tasmania
(b) The meridian of Cape Town

{c) The meridian of Wellington

(d) The meridian of Perth

\3



2013 Queghionr

38. With reference to India, which of

3. The three prim soil micro-
2 r primary the following statements relating to

nutrients are

- urbanization is/are correct?
economic, social and political
progress.

(b} copper, cadmium and carbon
. 2. Rapid growth of urban

population puts pressure on

(c) nitrogen, phosphorus and public utilities.

potassium-
3. Urban sprout is encroaching

(d) boron, zinc and magnesium the precious agricultural land.

24. Diamond Ring, God’s Eye and Baily’s Select the correct answer using the
Beads are the parts of which code given below.
one among the following natural

phenomena?
CAPF o2 (@ 1 and 2 only

{a) Solar eclipse }
SF {b) 2 only

(b) Aurora
(c) Lightning f¢j 1 and 3 only
(d) Solar storm {d} 1,2 and 3

39. Which of the following statements .
regarding landslides is/are correct?

1. They are sudden and sporadic. 41, The continent having the largest area

2. They result when the slope is in the equatorial belt is
gentle.

3. Mining activity is also ]
responsible for landslides. (a) _ASla

Select the correct answer using the

code given below. (b) South America

{a) 1 and 2 only (c) Africa

() 1 and 3 only

(c) 3 only (d) North America

(d 1,2 and 3



42. Which of the following statements
are correct?

1.

Sediments of Gondwana
System were deposited under
marine condition.

Rocks of Gondwana System
are fossiliferous.

Rocks of Gondwana System
contain metallic mineral
deposits.

Gondwana deposition took
place in downfaulted trough.

Select the correct answer using the
code given below.

(a)

(b)

(c)

(d)

1, 2 and 3

1, 2 and 4

2 and 4 only

1 and 3 only

43. Which one among the following
statements is not correct?

{a)

(b)

(c)

(@)

Shillong Plateau is an outlier of
Peninsular Plateau of India

Aravalli Mountain is the oldest
mountain chain of India

Vindhyans are examples of fold
mountain

Rajmahal Highlands are
composed of lava deposits

44. Which one among the following
systems contains the oldest rock
formation of India?

{a) Aravalli System
(b} Archean System
(¢) Cuddapah Syistem
(d) Vindhyan System

45. Which one among the following is
not correct regarding the black
soils of Peninsular India?

{a) Rich in iron, lime and potash
{b) Retentive in moisture

{c) Fertile and well-suited for
growing sugarcane

{d) Rich in phosphorus and
organic matter

46. Which one among the following
places in India is- nearest to the
Tropic of Cancer?

(a) Aizawl
(b) Rajkot
(c) Kolkata

(d) Imphal

Stupy FuNDA
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47. Match List-I with List-II and select
the correct answer using the code

given below the Lists :

List-I
(River)
Spree 1.
Rhine
Seine

Elbe

U o w »
2w o

Code :

(a) A B C D
3 2

4 1
(b} A B C D
4 1 3 2

(g A B C D
3

N

(d A B C D
3 4

52. The place located at the confluence

List-IT
(City)

Bonn
Hamburg
Paris

Berlin

of Alakananda and Pindar rivers is

{a) Rudraprayag

A
‘ Q00

(b) Karnaprayag
(c) Devaprayag

(d} Vishnuprayag

A3

48. Which of the following pairs are
correctly matched?

L.

w

4.

Idukki : Thermal Power
Station

Sabarigiri : Hydroelectric
Project

Ghatprabha : Irrigation Project

Ramganga : Multipurpose
Project

Select the correct answer using the
code given below.

(a)
(b)
{c)
(@)

2, 3 and 4
1,2 and 4
3 and 4 only
2 and 3 only

49, Which one among the following
States shares common boundaries
with maximum number of other
States? .

(a)
(b)
(c)
(d)

Madhya Pradesh
West Bengal
Chhattisgarh
Andhra Pradesh -

50. The State of Sikkim is surrounded by

(@)

(b

(c)

(d)

China, Nepal, Bhutan and
West Bengal

Bhutan, Nepal, West Bengal
and Assam

China, Nepal, West Bengal and
Assam

China, Bhutan, West Bengal
and Assam



53. Match List-I with List-II and select

the correct answer using the code
given below the Lists :

List-T List-II
(Continent) {Desert)
. Asia 1. Atacama
. Africa 2. Mojave
. North America 3. Kalahari
. South America 4. Gobi
Code :
@ A B C D
2 3 1
(b) A B C D
1 3 2 -4
(c) A B C D
3 3 2 1
(d A B C D
1 2 3 4

55. The Wallace’s Line distinguishes or
separates the flora and fauna

between

(a)
(b)
(c)
(d)

114

Canada and USA

([~}
Taiga region and Tundg’ region
Mexico and Central America

South-East Asia and
Australasia

54. Which one among the following
ocean currents mixes with Labrador
current?

(@)
(b)
(c)
(d)

Canaries current
Benguela current
Florida current

California current

56. Which one among the following is
the major occupation in equatorial
region?

(@)
(b)
(c)

100. Which one among the following is - (@)

not a Mars rover?
(a) Sojourner

(b) Opportunity
(c) Curiosity

{d) Apollo

Growing of tropical crops
Growing of cereals
Growing of citrus fruits

Animal rearing

StuDpY FUNDA
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105. Which one among the following
sectors in India has the highest
share of employment?

(a) Agriculture and allied activities
(p) Manufacturing m ?
(c) Construction

9ol

(d) Tertiary sector

106. The Human Development Report,
2013 (UNDP) does not focus on

(a) sustaining development
momentum

(b) peace and security

(c) confronting environmental
pressure

(d) managing demographic change

2012 Quegriont

25. Whenever a tropical cyclone moves 26. Match List-1 with List-II and select
to land, much of its severity is the correct answer using the code
reduced. This is because given below the Lists :

. f . . ff List-I List-II
1. 1ts source of moisture 1s cut o (Delta) (Example)
2. the friction over land Kkills A. Arcuate delta 1. Nile Delta
tropical cyclones B. Bird’s-foot delta 2. Mississippi Delta
. C. Cuspate delta 3. Tiber Delta
Select the correct answer using the
: D. Estuarine delta 4. Seine Delta
code given below.
Code :
(a) 1 only @@ A B C D
1 3 2 4
(b) 2 only ) A B C D
4 3 2 1
c) Both 1 and 2
() fcj A B C D
' 4 2 3 1
(d) Neither 1 nor 2
(dj A B C D
1 2 3 4



27. Which one among the following is a
dormant volcano?

(a)
(b)
(c)
(d)

Mount Kilimanjaro
Mount Stromboli
Mount Etna

Mount Mayon

28. Asteroid belt is situated between

(a)
(b)

Mars and Jupiter

Earth and Mars (/A

Aol

{c) Jupiter and Saturn

(dj Venus and Earth

44. Which one among the following is
not a greenhouse gas?

(a)
(b)
(c)
(d)

Methane
Ozone
Chlorofluorocarbon

Sulphur dioxide

52. Hurricanes rarely form or move
within S degrees of the equator,
because

(a)

(b)

(c)

(d)

Coriolis effect is weakest here

Coriolis effect is strongest here

it has low pressure

it has high temperature

56. Consider the following statements :

1. Creepers or climbers are
commonly found in the tropical
rain forest.

2. The epiphytes, which do not
have their roots on the ground,
survive on the trees in the
tropical rain forest.

3. All epiphytes are not creepers.

Which of the statements given
above is/are correct?

fa) 1, 2 and 3
(b) 2 and 3 only
{c) 1 and 2 only

{d) 3 only

StupYy FUuNDA
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74. As per the Bureau of Indian
Standard, the domestic water
demand in India in LPCD (liter per
capita per day) is

(a) 60
(b) 100
{c) 135
(d) 270
79. Which one among the following is a
cold current in the Atlantic Ocean?
{a) Gulf Stream
(b} Benguela Current

{c/ Peru Current

(d) Brazil Current

80. Consider the following statements
about irrigation in Punjab :

1. Intensity of irrigation is the
highest among all Indian States.

2. Area under canal irrigation is
the highest among all Indian
States.

3. There has been severe land
degradation in Punjab owing
to agricultural modernization
including high intensity of
irrigation.

Which of the statements given
above is/are correct?

fa) 1, 2 and 3
(b) 1 and 3 only
(¢) 2 and 3 only
(dj 1 only

x* x

AN ) /Ag
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54. Why does the Earth assume the

shape of an oblate ellipsoid? CAPF
AC
20l2
fa) The Earth’s rotation causes the
Earth to bulge slightly at the
equator and flatten at the poles

(b) The Earth’s rotation causes the
Earth to bulge slightly at the
poles and flatten at the equator

CRAPF 2012

(c) The Earth’s revolution causes
the Earth to bulge slightly
at the equator and flatten at
the poles

(d) The Earth’s revolution causes
the Earth to bulge slightly at
the poles and flatten at the
equator

55. Which one among the following is a

mechanically formed sedimentary
rock?

{a) Salt rock

(b) Limestone

{c) Sandstone

{d) Gypsum



- In the context of agricultural

revolution in India, which of the
following statements is/are correct?

1.  White revolution in the field of
agricultural development is
associated with modernization
of sheep farming.

2. Second green revolution is
associated with development of
horticulture.

3. Blue revolution in the field of
agriculture is associated with
improvement in the production
of fish and marine products.

Select the correct answer using the
code given below.

fa) 1 only
(b) 3 only
fc) 2 and 3 only

(d) 1, 2 and 3

115. Which one among the following

statements is not correct?

(a) Eastern Himalayas and
Western Ghats are the two
biodiversity hot spots in India

(b) Central American lowland and
highland forests are identified
as biodiversity hot spots

(c) The biodiversity hot spots are
mostly confined to the tropical
and subtropical regions of
the world

(d) The South-East Asian islands
are not rich in biodiversity

116. Which one among the following

Indian States shares boundaries
with the largest number of States?

fa) Madhya Pradesh

(b) Chhattisgarh/ prf F (Q ol2-

(c) Maharashtra
(d) Assam SP

81. The Golden Quadrilateral of India
connects which of the following

places? Cﬂ P F 3017'

fa) Srinagar—Porbandar
—Kanyakumari—Silchar

(b) Delhi—Mumbai
—Chennai—Kolkata

fc) Delhi—Mumbai
—Kanyakumari—Kolkata

{d) Jammu—Ahmedabad
—Chennai—Kolkata

117. Which one among the following
Indian States shares international
boundaries with three nations?

{a) Uttarakhand

(b) Himachal Pradesh
fc) Arunachal Pradesh
(d) Assam

118. Which one among the following is
the nearest from the ‘Zero Mile
Centre’ of India?

{a) Taj Mahal
{b) Charminar
{c) Gateway of India
(d) Victoria Memorial

119. Which one among the following
statements is not correct?

{a) The plane of separation
between the crust and mantle
is known as Mohorovicic
discontinuity

{b) The mantle contains more than
two-third of the total material
mass of the Earth

(c) The mantle is composed of the
heaviest materials of the Earth

(d) The inner core of the Earth is
in solid state



31.

2011

Which one among the following statements

relating to a cyclone is nof correct ?

(a) Itis a wind circulation system with a low

pressure at the centre

(b) It brings about sudden
weather condition in an area

{¢) Wind movement

in the northern hemisphere

(d) It is known as hurricane in West Indies

Which one among the following forces is
most powerful in determining movementi of

wind including its velocity ?
(a) Gravitational force
{b) Centrifugal force
{c) Frictional force
(d) Pressure gradient force
Maich List I with List II and sclect the

correct answer using the code given below
the lists :

List I List IT
(IBorder) (Guarding force)

A. India — Pakistan 1. Indo-Tibetan 8.
Police Force

B. India — Nepal 2. Border Sccurity
Force

C. India — China 3. Sashashtra Seema
Bal

D. India — Myanmar 4. Assam Rifles
A B C D

(a) 2 1 3 4

b 4 3 1 2

(c). 2 3 1 4

(d) 4 1 3 2

change

towards the low

pressure centre of a cyclone is clockwise

uC,zSHO/}&

9. Match List I with List II and select the correct
answer using the code given below the lists :

List I List 1T

(River) (Tributary)
A.  Godavari 1. Son
B. Krishna 2. Chambal

in C. Yamuna 3. Bhima

D. Ganga 4, Manjira
Code ;

A B C D
{a) 4 3 2 1
®» 4 2 3 1 (A U
) 1 2 3 4 Q (4] \\
(d) 1 3 2 4

12, Which one among the following statements
regarding SAARC is correct ?

(a) Myanmar is a member of SAARC

(b) Headquarters of SAARC is located in
Dhaka

{c) The first
posthumously
President Ziaur Rahman of Bangladesh

SAARC
conferred upon late

award was

(d) The present Secretary General of
SAARC is from India

Which of the following statements relating
to the planet Venus is/are correct ?

1. It is the nearest planet from the Sun.

2. It is only slightly smaller than the
Earth.

3. It has no atmosphere.

Select the correct answer using the code
given below :

(a) 1,2and3
(h) 1 and 3 only
{c) 2 only

(d}) 1 and 2 only

* ¥ %
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32. If India adopts two time zones based on 75° E
meridian for western India and 90°E
meridian for eastern India, which one among
the following states of eastern India will be
benefited most ?

(a) Manipur

(b) Wesl Bengal
(¢} Assam

(d} Bihar

33. Arrangc the following hills of southern India

from north to south :
1.  Nilgiri
2. Cardamom
3. Nallamala
4.  Anaimalai
Select the correct answer using the code given
below :
(a) 3-1-4-2
(b) 4-3-1-2
(cy 1-3-4-2
(d) 1-2-34
34. Which one among the following local winds is
not characteristically hot and dry ?
(a) Sirocco
(b) Mistral
{¢) Khamsin
(d) Chinook

Stubpy FunDA
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57.

58.

Arrange the following Indian states in
descending order of population density as per
the Census of India 2011 ;

1.  Uttar Pradesh

2, Kerala C/ﬁ P‘F

3. Bihar i 0‘/\
4.  West Bengal

Select the answer using the code given below :
(a) 4-3-2-1

(b) 3-4-2-1
(¢} 2-3-4-1
(d) 8-4-1-2
56. In which stage of ‘demographic transition’ is
India at present ? C/p( PP 20“
(a) High birth rate and high death rate
(b) High birth rate and low death rate
(¢} High birth rate and falling death rate
{d) Low birth rate and low death rate
ASEAN (Association of South Rast Asian

Nations) Regional Block consists of a number
of countries. Which one of the following
groups of countries is a part of this block ?

(a) India, Pakisian, Sri Lanka, Bangladesh,

Thailand, Myanmar CH@F&D\‘

(b) Brunei Darussalam, Indonesia,
Malaysia, Singapore, Thailand, Vietnam

{¢) Indoncsia, Malaysia, New Zealand,
Australia, Philippines, China

(d) Indonesia, Maldives, Bhutan, Nepal,
China, Myanmar

Which one among the following is not a
plantation crop ?

(a) Coffee

(b) Sugarcane CA Pé 2’“
(¢) Wheat

(d) Rubber



59.

77.

78.

79.

010

Which one of the following is not a World
Heritage Site as identified by UNESCO ?

(a) Kaziranga National Park
(b) Keoladeo National Park
(c) Manas Wildlife Sanctuary
(d) Bandipur National Park

The antipodal position of a place located
at 35° south and 80° west is :

(a) 55° north and 80° east
(b) 35° north and 100° east
(¢) 100° north and 80° east
(d) 55° south and 10° east

The irregularity in the amount of rainfall
in different parts of north Indian plains is
mainly due to :

(a) irregular intensity of low pressure in
the north-western parts of India.

(b) variation in the location of the axis
of low pressure trough.

(c) difference in frequency of cyclones.

(d) variation in the amount of moisture
carried by winds every year.

A

Salinity in ocean water decreases when :
(a) evaporation is more.

(b) wind velocity is high.

(c) humidity is high. ™

(d) rainfall is high.

(S\ uegfiowt

The shape of the population pyramid reflects
the characteristics of the population. The
shape of the pyramid in India is

(a) bell shaped and tapered towards the top
(b) narrow base and a tapered top

(¢} broad base and a tapered top LﬁQ F
(d) narrow base and narrow top g‘bb

99. The reircating monsoons occur during the
months of

(a) January — Fehruary
(b) March — April

(¢) June - July

(d) October — November

84. Which onec of the following types of
economic activities dominates in all rural
settlements ?

(a) Primary
(b) Secondary
(c) Tertiary

(d) Quaternary

80. Which one among the following is a deep-

water all weather sea port in India ?
(a) Kandla
(b) Marmugao ‘F

(c) Paradeep 2 0"

(d) Vishakhapatnam




81.

82.

83.

Why western coast of India receives heavy

rainfail but the Deccan Plate re(:eives

very little ? OA{? F 20 ©

(a) The Deccan Plate‘au. is situated on
the beeward side of the Western Ghats

(b) The region is simply bypassed by the
south-west monsoon

(¢) There is lack of High mountains in

the Deccan Plateau

(d) There is weak low pressure belt

Ischaline is an imaginary line joining the
places having equal :
(a) radiation.

(b) insolation.

| (c) salinity.

(d) sunshi\ne.

Which one of the following characteristics

related to Nordic countries is true ?

(a) None of them are land locked from
all four sides

(b) The Arctic Circle passes through all
of them

(c) Inland waterway is the most important
means of internal transport

(d) The whole region is ice-capped
throughout the year

84. Which one of the following statements

about the ‘Sir Creek’ is correct ?

(a) It forms the boundary between Gujarat
and Sind province of Pakistan

(b) It is an imaginary line dividing the
river Jhelum between India and
Pakistan

(c) It is a narrow stream forming the
boundary between India and
Myanmar

(d) Itis atiny island and a reputed tourist
spot in the Bay of Bengal

85. Consider the following railway zones :
1. North-Eastern Railway
2. Central Railway
3. North-Western Railway
4. South-Eastern Railway.

Which one of the following is the correct
order of locations of the headquarters of
the above railway zones from west to
east ?

(a) 1-2-3—4
(b) 2-3-1-4
(¢) 3-2-4-1
(d) 3-4-2-1
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93. Match List-I with List-II and select the

94.

correct answer using the code given below
the lists :

List-1 List-11
A. Isobars 1. Lines of equal time
B. Isohels 2. Lines of equal
pressure
C. Isochrones 3. Lines of equal
salinity
4. Lines of equal
duration of sun-
light
Code :
A B C
(a) 1 2 4
() 2 4 3
) 2 4 1
@1 2 3

Which one of the following pairs is

correctly matched ? 0@ PF aj_;(oo ,

Tropical Cyclone ocation
(a) Hurricane Australia
(b) Willy-Willy Japan
(c) Baguio Philippines
(d) Taifu North Atlantic

95. Which onc of the following can be

considered as an initial warning of an
approaching Tsunami ?

(a) Thundering noise

(b) Squally winds and rainfail

(¢) Rapid withdrawal of water away from
the beach

(d) Rapid landward movement of water

91.

92.

The lake Ontario and St. Lawrence of USA
and Canada lic to the south-cast of :

(a) Hudson Bay
(b) Labrador Sea
(c) Atlantic Ocean
(d) New Foundland

Which of the following is/are coastal
cities ?

1. Hamburg

2. Washington
3. Berlin

4. Cairo

Select the correct answer using the code
given below :

(a) 1,2 and 3
(b) 2,3 and 4
(c) ! and 4
(d) 1 only
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21.

33.

37.

41.

00 Buephont

There are 12 major ports in India and
Port Trust Boards have been setup for the
administration, control and management
of 11 of these 12 ports. Which one of the
following major ports has been
incorporated as a company under the Indian
Companies Act, 1956 and not administered
by a Port Trust Board ?

(a) Haldia
(b) Paradip CAF E zo-aﬂ
(c) Ennore
(d) Kandla

Which one of the following is noet a World
Heritage Site ?

(a) Kaziranga National Park

(b) Sundarbans National Park

(c) Kangchendzonga National Park

(d) Keoladeo National Park

A farmer sows beans in his fields after
harvesting a crop of wheat. Which one of
the following agricultural practice is he
following ?

(a) Multiple cropping

(b) Crop rotation

(c) Fallow field

(d) Mixed cropping

Which one of the following statements is
not correct about Biosphere Reserves ?
(a) They are protected areas meant for
conservation of Biodiversity

(b) Each Biosphere reserve has three
zones

(c) There is a network of biosphere
reserves world over

They were first started by IUCN
(International Union for Conservation

of Nature and Natural Resources)

(d)

77.

78.

Which one of the following causes rainfall
in the north-western parts of India during
Winter Season ?

(a)
(b)
(©)
G

Tidal range denotes the :

(@)

Cyclonic depression
Retreating monsoon
Western disturbances
South West monsoon

rise of sea water and its movement
toward the coast

fall of sea water and its movement
toward the sea

(b)

rise and fall of sea water due to
gravitational forces

difference between high and low tide

©)

(d)

79. Consider the following statements :

1. The Damuda series of rock system
contain all the metallurgical coal in
India.

2. Tamil Nadu is the chief producer of
lignite coal in India.

3. Tertiary coal is mainly confined to
the peninsular India.

Which of the statements given above

is/are correct ?

(a) 1 only

(b) 2 and 3 only
(c) 1 and 2 only
(d) 1,2and 3

80. Which one of the following states of India

is surrounded by Bangladesh on three
sides ?

(a) Mizoram

(b) Meghalaya

(c) Tripura

(d) West Bengal



81.

83.

84.

85.

Through which one of the following continents,
do the equator, the tropic of cancer and
the tropic of capricorn pass through ?
(a) Africa

(b) South America

(¢) North America

(d) Australia

What happens to the soil, where soil water
freezes and it tends to form ice layers
parallel with the ground surface ?

(a) It heaves the soil upward in an uneven
manner
(b)

It heaves the soil downward in an
uneven manner
(c)

(d)

It heaves the soil both upward and

downward in an even manner
It remains unaffected

What happens to the water depth as the

Tsunami waves approach the coast ?

(a) Decreases

(b) Increases

(¢) Increases and decreases alternatively
(d) Neither increases nor decreases

Consider the following statements :

1. The Earth receives the Sun’s energy
at the infrared end of the spectrum.

2. The Earth re-radiates the Sun’s heat
as ultraviolet energy.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2
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86.

87.

88.

124. Assertion (A) :

125

Which one of the following is a planetary
wind ?

(a) Monsoon

(b) Trade

(c) Chinook

(d) Mistral

Which one of the following does not
control climate ?

(a) Latitude

(b) Altitude

(c) Longitude
(d) Forest cover

Which one of the foillowing types of forests
cover the largest area in India ?

(a) Tropical dry deciduous

(b) Tropical moist deciduous
(c) Tropical evergreen

(d) Himalayan moist temperate

In areas of intensive
subsistence agriculture,
animal husbandry plays
an insignificant role.

Reason (R) : Throughout the region,
the farmers are
handicapped in raising
cattle due to lack of
scientific methods of

breeding.

Assertion (A) : Nitrogen gas is used to
provide inert atmosphere

in chemical reaction.

Reason (R) : Nitrogen gas has a very
little chemical reactivity

at ordinary temperature.



